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Three, 5 and 9 colour steps for visual evaluation
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/(Zolour management for output linearization of a 9 step grey scale " [Colour management for output linearization of a 9 step grey scale
*' (star-dash) coordinates ** (star-dash) coordinates
W 1,007 . W 1,00 N 1,00, 1,009 1,00, 1.00
o of real output with real 1,00, 1,00 N of real output with real 100, 1,00
w*’ output| display reflection in office room; output m‘ output| display reflection in office room; output
3 tout - tout i -
outpu hgh'ter (positiv P) real output start output ||g:ter (positiv P) reil output 075,08, t start
0,75+ W* output = fr [W¥input] —real 0,75+ W* output = fr [W¥input] v —real
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N 0,00 — N 0,0( —
0,00,0,00 0,00,0,00
N 0,0 0,25 0,50 0,75 1,00 W 0,0 0,25 0,50 0,75 1,00 W
Tigo0-3n FegoT-an

109G, 5, oG y=[50/10g(5)] log(Y/Yy

50?7 NlOgZ?

€46=0, .

c5=ed6*

(b3-b2)+b:
0,50

0,710
314 0.524

0. 0,230 | 0. 0
314, 390, 524, 658, 787, =
Ny 28 oy "B AR98 oG u=[50/0g(5)] logY/Yy

)+50, Yn=4, Y =20, Yy =100

N14; N16
75? y87? )i

00

)+50, YN =4, Y|y =20, Yy =100

N14y  Ni6y

A b

0 JUBWaINSEaW pue uonen[eAs 1oy uonealdde

S 50 TUOIGIoU6ISLI-T00T P20 “UonensiBal L N

ndino yuud Jo Aejdsip
9p092 :[elsrew gnL

(e
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